B %
ROEMNICEL L.

(1) a.bcB3FERETD, KOMWIZEZ L.
a) il [a<b<chbiFa<bdbhDa<c] OEBEEZL, (7272L, BTHILE
B % 7R
Gl [a<bhoa<chblda<b<c] OIbr®Er L. (LZL, BTHLHHE
VL % 7R
¢) a<b<clda<bhDa<cThrrODMENRLLR, TR SEN,
O REEMNTHLY, THEMHETREY @ FHEMETHLY, LELETERY
@ BEVTGEHTHL @ BEEHTHTSEETL AV

b

(2) KROBIEL L.
a) WOZMCHT 5 MEHL L.
O <vV7 <[@] thant, V7 oksikim: (@] T A
@] c#2.

N S
3-v7

c) # DI E o, NEERTE D LT HEE, ROKXOERD Lo

b) DDA E L Lo

a, b, a’+2ab+b’

(3) P (n) LT, ROLMOZEMIET 50 - HEEX Lo
I (o) i, (O] s DI 5 DD ERTHTTH Do
A L OMIH LT, ZOMCAET 2 IEAMBEELE S, CORABOHORS
] tnans, HEFKE @] LVRXWETHL I LASD 5]

(4) HOXHZIENTEE 6 DWRLMEY YY), EHBOBEIY H
CL Tk EED LA TE D, L L, FTOXHICIESEE 72
WAL L7225, IEHEOBEI Y HIZT 2723 TRITRET
RN
oA, ERFROBYINATY HEANRD Z ETUEREELS
EHTEDH, 2O HIZEIh, BETHEE,

gemsinss, 2001

(5) WL FBOMAHFEIAE D 2 & AT Lo

(6) FHOMD LS %77 AAMOHERD DD, ZOFE, 1 a ml§2
RHIDE ZHFTREANL. ANUGD THHOMR x B &, KORS >
yem EOMRELRT 7T 7L LTHY LD DR ES,

[ORNG @ v ® ¥ @ ¥

0 ‘ x 0 x o x o x

[0] xoMVICER &,

a) (x=1)(y=-1)(z-1) ZEHEL,
b) xyz+x+y+z—xy-yz—2x=6ThbL %, (x-1)(y-1)(z-1) OfizRD X,
c) xyztxtytz=xytyztzat6 ZiliZzTER xy, 2z OMETRTRD L,

RIFEHBHWEE-T, 1,23, nkg (n EERAL) OVENESEENILSICLEL.
7L, BHUDESEIANT (BRY) kgTHdEL, BHWEIRFOEAICHEALTHEL
WET B, &f, FRATIHBVRENEESHI1ETOETS, COEE, ROMWIZER L.

a) n=13LF2LE, MkgDHD Y ZMET I L2, BHTIWIL2MEEEL L.
b) n=40F 25L& BHYVOWBEL/NMIT2I2E, MkgnBb ) 2 HETITLW
PHER L

AABCIEBWTBC=2V2, AC=2, £BAC=135THBLE, ROMVICEZL,
a) £ ABCEify7r, wfy7r, $ifa7, MpZE-OFTER Lo

b) ZACBOKE %KD&,
c) ABOREZRD L,




ik

(a) | = (M b) | B (KBl a=2,b=4,c=3 72&) Mo | @
@a® | 2 (/1) @a®@ | 3(/9) @a® | 2 @a® | /72
@b) % @0 | a=2 ,b:%ﬁ ,a2+2ab+b2:{:‘+2ﬁ)2: 8+zﬁ
@D | mm @@ | wix @® |6 @@ | &
(4)
) AT B2 | niE RSN, U 2m 1 | mlEE R S DL TED,
220 2nF @m A1) =2(n+m) +1 T, nt+ m3BE 0, 20+ m) + UIAEk LD, Lo, B IR B,
(6) @
2 G-Do-DE-D=(y—x—y+1)(z-1D)=xyz—rz—yz+2z—xy+rx+y—1

=xyz—axy—yz—zxtxtytz-1

b) a)dv, (x—1Dy—D(z-1)=6—-1=5

b) I, (=D —1D(z—1)=5=1X1X5 D&x,
(x,v,2)=(2,2,6),(2,6,2), (6,2,2)
(=1D@-D(-1)=5=(-1)X(=1)X50DL&,

c) (x,v,2)=(0,0,6),(0,6,0),(6,0,0)

(x—Dy—1(z—1)=5=1X(—1)X(—5) DX,

(x,y,2)=(2,0,-4),(2,0,—4),(0,2,—4),

(0,—4,2),(—4,0,2),(—4,2,0)

a) 1ke, 3ks, 9ke

b) 1ke, 3ke, 9ke, 2 Tke

ZABCHSIAATHS,

a) (B) ZBAC=135" 726, ZABC+ZACB=180" —135° =45" L720
ZABC<45" Lipdinb,

ZACB=45"-30"=15"

2 _ 242

SRy R S
b) IERERLLY sinZABC  sinl35°
ZABC=30" L722003b,

T . sinZABC :% p2AUN

AB=—~/2+./6
) AREFED, (24/2)2=AB?+22—2X ABX 2X cos135°

AB? 42,/ 2 AB—4=0 L7255,
AB=—/2+./6 LirL.AB>07200






